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Multiply 3 Digits by 1 Digit ~ Multiply 3 Digits by 1 Digit

1a. True or false? The calculation below
has been worked out correctly.

1b. True or false? The calculation below
has been worked out correctly.
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2a. Circle the correct answer fo the
calculation below.

2b. Circle the correct answer fo the
calculation below.

51 2 4 3 2
Hundreds | Tens [Ones| X 4 Hundreds | Tens [Ones| X 3
[
0 o
(] 00 00
ﬁ\zm (2,058 (2,148) (2,296 ) (1,896 ) (1,296 ]
3a. Complete the calculation. 3b. Complete the calculation.
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4a. True or false? The calculation below | 4b. True o false? The calculation below
has been worked out correctly. has been worked out correctly.
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5a. Circle the correct answer fo the
calculation below.
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6a. Complete the calculation.
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Multiply 3 Digits by 1 Digit

7a. Complefe and compare the
calculations below using the <, > or =
symbols.

7b. Complefe and compare the
calculations below using the <, > or =
symbols.

8 0 3 6 9 0 9 5 0 7 0 9
x 7 O« 8| x s Ox ]
8a. Complete the calculation below. 8b. Complete the calculation below.
8 9 2 7 6
x x 4
5 2 14
s 1 ]
9a. Find the difference between the 9b. Find the difference between the
answers of the calculations below. answers of the calculations below.
760 80 9 508 360
A A
x 9 x 4 x 6 x
6 0 7 79 890 6 0
B x 8 x B x 5 x
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Varied Fluency
Multiply 3 Digits by 1 Digit

Developing
1a. False, 20 x 2 = 40, not 60. The answer

should be 1,648.
20.2,048
3a.3,085

Greater D
70.5,621 > 5,520
8a.892x 6 = 5,352

9a. A: 6,840 - 3,236 = 3,604, B: 4,856 —
4740=116

Varied Fluency
Multiply 3 Digits by 1 Digit

4b. False, 0 x 4 = 0, not 4. The answer
should be 1,320.

5b.2,015

b 1,659

Greater Depth
7b.5,700 < 6,381

8b.786x4=3,144
9b. A: 3,048 - 2,880 = 168, B: 4,450 - 4,256
=294
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